o i 88
AF 1000 - 9000 %3l

HITOP

IR A 32 7T ¢

y

7S

|_
7
LL
>
o
Bur’
L
L
Z
_
i
<

I ©

11\t
AF 2000 — 02 D - 5 L
- -

1000 M5 |M5X0.8 =8| FapHIK 5 5 =8| FTiEEE

2000 01 1/8 D | Ba@bHK =B 25 L | L BufEze
02 1/4
02 1/4

3000 03 3/8 TTHR34651

1000 gi ?;2 TRIEEORN M5X0.8; HATSR TN HREER 250m; T L BT,
06 34 #AEF 1000 BYLIEES. IEMMITWAS: AF1000 - M5
06 3/4 TWEB0ORN Re1/2; HKFSNNEEIHIK; TREERN Sum; M L 28,

5000 10 1 B 4000 BVITEES. IEFATTMENE: AF4000 - 04D - 5L

8000 12 14
14 12

9000 20 2

7 @ AF1000 BERBFshHKSR,
@ AF8000 / AF9000 BUJC 5pum FTiEkEE,
® AF 1000 / AF8000 / AF9000 BT L BUIEZERE

L AS

Be AF1000 | AF2000 | AF3000 | AF4000 | AF5000 | AF8000 | AF9000
BEEOR Rc  M5X0.8 | 1/8,1/4 | 1/4,3/)8 3/8,1/234 34,1 | 14 12 2
ERARE EB=S

BEEAEN  MPa (kgficm?) 1.0 (10.2)

RNERARERE °C 5~60

REES gm 5

BALBHREC L/min M0 | 750 | 1500 | 4000 |6000] 7000 | 11500 18500
(BE HmE

Nz RiRERAS

HKT5T® FHHK | g L FHLFRED

AFRE kg | 007 0.18 0.26 0.52 [057|  1.04 3.08 5.16
WES (RERE) | BrE — - ° ° ° ° °

I O LRBEESS 25um MBTHEER,
@ #SMESR 0.7 MPa ( 7.1kgf/em? ), HSMES 0.5 MPa ( 5.1kgflcm? ) BYER T

@ ZENSHKIS M FEHHKINAE.

04.01 WWW.HITOP-PMA.COM




1 NINGIMNSOF ANV

HUBWE LS

—]
. C
B3 N
Ho
S .
. g
1 o
S = =
= 2 y O
@) S £ .
L o _
T SR - P
< Mn ﬁ%mﬁ%%mﬁm C
ESANEA%NSN% <
MunmﬂW%mﬁﬂ(nn(m@
8100 i xg 00 1D o |89 1 S
B & WW% & o
i a
o
=
L
=3 -
o 5 — W
N 3
o @
=
=
™
L
<
[ ]
ic ﬂ_m ic
- gl <l el e SRR EER
3 FR M ee IR
| mo _Mom.‘m&
X
S :
o
S i —— T =
E?._ @ \ I %
o / Y
k\lm > N[ t|wlo~ oo 2
m;l 0\2\W®
Ho B <
,z,Aon




H_ Y \,
E IE T e 28
% By AF1000 - 9000 #3%
I =
= Ik
) JJ'\ MRS (mm)
8 e AF1000 - 2000 ¢ AF3000 - 4000
L
“ L ;
_ K M
i S I
< AR = DA
J| 1 I
| g I (8 ) ‘
OOl 2.geosz/ |8 | O
- 0! 0 [ | [
‘ I
U i J Uil
HX @ BzhHEK: R1/8
A | SmpEKX T C
e AF5000 - 9000
L F
Tw ]
D
w o ‘
z| |
e A
(30 )
2. BEOR
o
HEK : BnhHEK: R1/8
@ #EDHWJ(: 7c
A C
| ®S  |@®O®Rc| A | B | C | D | E | F | G | H | J | K| L M| Q|
AF1000 M5X0.8 25 72 27.5 25 — — — — — — — — 7
AF2000 1/8, 1/4 40 113 40 40 17 30 27 22 54 8.4 40 2.3 1
AF3000 1/4, 3/8 54 139.5 56 54 16 41 40 23 6.5 8 53 2.3 15
AF4000 3/8, 1/2 70 175.5 73 70 17 50 54 26 8.5 10.5 70 2.3 18
AF4000-06 3/4 75 179.5 73 70 14 50 54 25 8.5 10.5 70 2.3 20
AF5000 3/4,1 90 2545 90 90 23 66.5 66 35 11 13 90 3.2 24
AF8000 14 ,1'/2 150 396 140 140 — — — — — — — — 33
AF9000 2 190 470 190 190 — — — — — — — — 46

04.03 WWW.HITOP-PMA.COM




o e 88

AF 1000 - 9000 &3l

e AF1000

0.1

P3 o

N JP4 / P1

[Ei# (MPa)

0.02 é/

0o 25 5 7 100 125 150
& L/min(ANR)

e AF2000 e AF3000
0.1 P3 P2 0.1 P:
0.08 063 | P4 P2
— P4 / —
é 0.06 / P g 006 25
w / " /
o % 0.04
0.02 002
%/ =
00 200 400 600 800 1000 00" 250 500 750 1000 7250 1500 750
#i% Umin(ANR) % Umin(ANR)

e AF4000

/P4

0.02 /

L) 25 50 75 100 125 150
FiE L/min(ANR)

e AF4000 - 06 e AF5000
0.1
P2 b P3 /P

0.08 P1
5 Ps/ P1 0.08
% 0.06 | P4 E /
=~ S oo0s
o = / P4
M 004 % oo

0.02 0.02 %

0 0 2000 4000 6000 8000 ® 0 2000 4000 6000 8000 1000
Fi& L/min(ANR) Fi® L/min(ANR)

7E: P1=0.7 MPa; P2=0.5MPa; P3=0.3MPa; P4=0.1 MPa,

WWW.HITOP-PMA.COM 0O4.04

2 18 5T

SR
AIRLINE EQUIPMENT

S
Y/






